

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

02210721 Letting: July 21, 2021 11:00 AM Call Order: 003 E20G9-R0 Contract:

Fed Aid No: N/A District: District 2 Counties: BAKER, COLUMBIA,

DIST/ST-WIDE, Project(s): 41021257234 (*) **Contract Time:** 365 CALENDAR DAYS

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COLLINS LAND SERVICES, INC.	Responsive	Winning bid	\$227,938.50	100.00%
2	MOVING EARTH INC.	Responsive	Non-Winning Bid	\$239,925.00	105.26%
3	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$293,549.10	128.78%
4	MACO PARTNERS INC	Responsive	Non-Winning Bid	\$297,968.00	130.72%
5	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$397,918.75	174.57%
6	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$547,880.00	240.36%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 02210721 July 21, 2021 Call Order: 003 Contract: E20G9-R0

District: District 2 Fed Aid No: N/A Counties: BAKER, COLUMBIA,

DIST/ST-WIDE, Contract Time: 365 CALENDAR DAYS **Project(s):** 41021257234 (*)

Contract Descr: Vegetation and Ditch Clearing within the Lake City Ops. area. RENEWAL OPTION. MAXIMUM LIMITING AMOUNT - \$300,000.00. BID EXPRESS MANDATORY.

\$300,000.00. BID E	AFRESS WANDA	TOKT.						
Line No / Item II Item Description		Quantity Units	(1) COLLINS LA		(2) MOVING	EARTH INC.		ACTOR SERVICE
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (WEED CONTROL (MANUAL) (AC								
0005 E104 50 WEED CONTROL M	1ANUAL	201.000 AC	498.50000	100,198.50	100.00000	20,100.00	1,000.00000	201,000.00
0010 E110 71 CLEAN OUTFALL D WIDE	ITCH, UP TO 15'	1,002.000 LF	10.00000	10,020.00	11.00000	11,022.00	4.55000	4,559.10
0015 E110 72 CLEAN OUTFALL D	ITCH, 15-30' WIDI	1,031.000 E LF	10.00000	10,310.00	15.00000	15,465.00	2.00000	2,062.00
0020 E110 73 CLEAN OUTFALL D THAN 30' WIDE	ITCH, GREATER	10,741.000 LF	10.00000	107,410.00	18.00000	193,338.00	8.00000	85,928.00
	ED CONTROL Se IANUAL) (AC)	ction Totals:		\$227,938.50		\$239,925.00		\$293,549.10

Contract Grand Totals:	\$227,938.50	\$239,925.00	293,549.10



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

Letting	: 02210721	July 21, 2021	Cal	II Order: 003		Contract:	E20G9-R0	
Line No / Item ID Alternate Quantity Item Description Units		(4) MACO PARTNERS INC		(5) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(6) MIDWESTERN CONSTRUCTION, INC		
	icates item is bid as Lump		Unit Price	Ext Amount	Unit Price LL	C Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (WEED CONTROL (MANUAL) (AC							
	E104 50 ONTROL MANUAL	201.000 AC	750.00000	150,750.00	41.61000	8,363.61	1,200.00000	241,200.00
	E110 71 DUTFALL DITCH, UP 1	1,002.000 TO 15' LF	8.00000	8,016.00	24.61000	24,659.22	17.50000	17,535.00
	E110 72 DUTFALL DITCH, 15-3	1,031.000 0' WIDE LF	10.00000	10,310.00	24.61000	25,372.91	20.00000	20,620.00
	E110 73 DUTFALL DITCH, GRE ' WIDE	10,741.000 EATER LF	12.00000	128,892.00	31.61000	339,523.01	25.00000	268,525.00
0001 WEED CONTROL Section Totals: \$297,968.00 \$397,918.75 \$547,880 (MANUAL) (AC)						\$547,880.00		
	Contra	ct Grand Totals:		\$297,968.00		\$397,918.75		547,880.00



Florida Department of Transportation

07/29/2021

Tabulation of Bids

Page 3 of 3

Letting: 02210721

July 21, 2021

Call Order: 003

Contract:

E20G9-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.